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1. The tax multiplier is smaller in absolute value than the government
purchases multiplier because some portion of the

A) decrease in taxes will be saved by households and not spent, and some

portion will be spent on imported goods.

B) decrease in taxes will be saved by households and not spent, and some

portion will be spent on consumer durable goods.

C) increase in government purchases will be saved by household and not
spent, and some portion will be spent on imported goods.

D) increase in government purchases will be saved by household and not
spent, and some portion will be spent on consumer durable goods.

2. According to the quémtity theory of money, if the money supply grows at
20% and real GDP grows at 5%, then the inflation will be

A) 0%
B) 5%

C) 15%

D) 25%
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Refer to the figure above, and let MR, MC, AVC, and ATC denote the
firm’s marginal revenue, marginal cost, average variable cost, and average
total cost. What is this firm’s short-run supply curve?

A) The entire average variable cost curve.

B) The entire marginal cost curve.
C) The marginal cost curve from b and above.

D) The marginal cost curve from ¢ and above.

4. If the cross-price elasticity of demand for Good 4 and Good B is negative,
this means the two goods are '

Aj substitutes.
 B) complements.

\ ) independent.

D) inferior.
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5. Some firms require consumers to pay an initial fee for the right to buy their
product and an additional fee for each unit of the product they purchase.

This practice is referred to as
A) odd pricing.

B) lcost-up pricing.

C) two-part tariff.

D) intertemporal pricing.

6. To affect the market outcome, a price floor
A) can be set at any price level.
B) must be set above the price ceiling.
C) must be set below the equilibrium price.

D) must be set above the equilibrium price.
= AREBE (305 EBE5H)

1. 4E4#38 4 ( price elasticity )
2. fF%# %% ( dominate strategy )
3. #iE4Z (adverse selection )

4, FE# % (realinterest rate )

5. & & #MH4E 33 ( Producer Price Index )
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6. MIFEA-MHAFEHE( Herfinc:i;éhl-Hirschman Index, HHI )
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1. Consumer Price Index (CPI) is a useful measurement for an economy’s
inflation. Please briefly explain what is CPI? Despite its usefulness in
measuring the inflation, many economists point out that it might overstate
the true inflation. Provide at least three reasons for the overestimation and

briefly explain each of them. (15 %)
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